[Example: If one of the twenty pre-employment tests was reported as being 0.02 or greater, “1”
would be entered in Column 3 on the Pre-Employment row. If four of the company’s fifty random
test results were reported as being 0.02 or greater, “4” would be entered in Column 3 on the
Random row.]

Section IV, Column 4. Number of Confirmation Test Results ~ This column requires entry of
the number of confirmation tests that were conducted by a BAT as a result of the screening tests
that were found to be 0.02 or greater. In effect, all screening tests of 0.02 or greater should have
resulted in confirmation tests. Ideally the number of tests in Column 3 and Column 4 should be
the same. However, we know that this required confirmation test sometimes does not occur. In
any case, the number of confirmation tests that were actually performed should be entered in
Column 4.

[Example: If the one pre-employment screening test reported as 0.02 or greater had a subsequent
confirmation test performed by a BAT, “1” would be entered in Column 4 on the Pre-Employment
row. If three of the four random screening tests that were found to be 0.02 or greater had a
subsequent confirmation test performed by a BAT, “3” would be entered in Column 4 on the
Random row.]

Section IV, Column 5. Confirmation Tests With Results 0.02 Through 0.039 ~ This column
requires entry of the number of confirmation tests that were conducted by a BAT that led to results
that were 0.02 through 0.039.

[Example: If the one pre-employment confirmation test yielded a result of 0.042, Column 5 of the
Pre-Employment row would be left blank or zeros entered. If two of the random confirmation
tests yielded results of 0.03 and 0.032, “2” would be entered in Column 5 of the Random row.]

Section IV, Column 6. Confirmation Tests With Results 0.04 Or Greater ~ This column
requires entry of the number of confirmation tests that were conducted by a BAT that led to results
that were 0.04 or greater.

[Example: Because the one pre-employment confirmation test yielded a result of 0.042, “1”
would be entered in Column 6 of the Pre-Employment row. If one of the random confirmation
tests yielded a result of 0.04, “1” would be entered in Column 6 of the Random row.]

TIP ~ Column 1 should equal the sum of Columns 2, 3, 7, and 8. The number of screening tests
results should reflect the number of screening tests you have no matter the result (below 0.02 or at
or above 0.02, plus refusals to test), unless of course, the tests were ultimately cancelled. So,
Column 1 = Column 2 + Column 3 + Column 7 + Column 8. Certainly, double check your
records to determine if your actual screening results count is reflective of all these counts.



